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X=y

X%y

(1) 10%3
1.0

X S XS

XNs

8.0

n

n!

120.0

(™ ~) 5+10-8
7.0

(™ ~) 20%12/4
60.0

(A ~)5.242.2-8.5
Ll

(™ ~N1/3
0.333333333333

X

Ix1

("7 2+]-3]
5.0

20

14

(N_N)2+3%4
14.0

*/



9.81

(~_7) abc=20 sin,cos,tan,...,arcsin,arccos,...sinh,cosh
20.0
(~_7) abc-2*10
0.0 sinTt/2
_( (™ ") sin(P1/2)
_ 1.0
32
X sgrt(x)
(") sart(9)
3.0
4-1 ex exp(X)
("_Ny=exp(3)
Pl 3.141592653589793 20.08553692319
E 2.718281828459045 (A NE*E*E
G 6.67E-11 20.08553692319
g 9.81
c 299792458 log(x) In(x)
R 6.378E+6 ("_MIn(y)
g G 3.0
(™ _™Mlog(10000)
@ il




ceil(x)

floor(x) round(x)

(™ Mceil(3.2)
4.0

(™_™Mfloor(3.9)
3.0

(™ _Mround(4.5)
5.0

2 n

prime(n)

(™ ™) prime(41)
2 3
19 23
13.0

5

29

7 11 13 17
31 37 41

n

factor(n)

(~_7) factor(546)
2 3
4.0

7

13

nPr
nCr

P(n,r)
C(n,r)

("_") P(5,2)
20.0

("_MC(5,2)
10.0

x1,X2,...,Xxn
mean(x1,x2,x3, ... xn)
median, variance, stdev

(®_~) mean(80,75,68,90,92,80,76,50,66,99)
77.6

(*_~) median(80,75,68,90,92,80,76,50,66,99)
78.0

(®_") variance(80,75,68,90,92,80,76,50,66,99)
182.84

(™_") stdev(80,75,68,90,92,80,76,50,66,99)
13.52183419511

AP
GP

(" NAP(L,2,10)
100.0

(N N)143+5+7+9+11+13+15+17+19
100.0




def ( )

f(x)=x2-1

(N M) def f(x) = x"2-1

i f(x) sigma(a,b,f)

5

> (3K ~1)

k=2

f
f(x)

f(x)

(™ 7 def sig(k)=3*k"2-1
(™) sigma(2,5,sig)
158.0

("7 1B3)
8.0

fz.x)=1x+z|

f(x) = 0

X3+x2-5=0 1-5

solve

(™™ def  f(z,x)=]x+z]

z 2 X -3

(2,-3)

(™) def f(x)=x"3+x/2-5
(™ M) solve(1,5,1)
1.43342757225

(") 1(2,-3)
1.0

X-c0s(x)=0

f(x)=x-2-1

(™ _Mdef f(x)=x-cos(x)
(™ _"M)solve(0,P1/2,1)
0.739085500758




f(x) f'(a)
f'(3)

f(x)=x2+x-1

differ(f(a))

(7 def f(x)=x"2+x-1
(™ ) differ(f(3))

7.0
Lb f (x)dx integral(a,b,f)
f(x)=x+x-1 [0,3]

(™ ") magic 5

(™M) def f(x)= x2+x-1
(™ ) integral(0,3,f)
10.5

dy
— = f(x,
- (xy)

(Xo1 Yo)

3 16 9 22 15
20 8 21 14 2

7 25 13 1 19
24 12 5 18 6
11 4 17 10 23

4
(™ ") pascal 4
1
1 1
1 2 1
i1 3 3 1

2004 6

(™ M) cal Jun 2004
2004 6
Su Mo Tu We Th Fr Sa
1 2 3 4 5
6 [ § 910 11 12
13 14 15 16 17 18 19
20 21 22 23 24 25 26
27 28 29 30
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y=f(x)
y = f(x)

def
graph

y =sin(12x) sin(x)

(™ M def  f(x) = sin(12*x)*sin(x)
(~_ ™) graph f

™ N def y(x)=1/x
(") graph y

(™ 7N def g(x)=4*sin(4*x)*exp(-0.5*x2)

(*_"™ graph g

(™_") graph color green
(") def y1(x)=-x+3

(™ ") graph y1

(") def y2(x)=(x+2)*(x-2)
(~_") graph color red
("_") graph y2

(™ M) def f(x)=sin(12*x)+sin(x)
™ ™) graph f
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y=f(z,x)
y=f(z,x)

y=f(x)

y = cos(2v/x? + z?)

(™M) def  y(z,x)=cos(2*sqrt(x2+z/2))

(®_") graph y

(™ M) def  y(z,X)=sqrt(x*2+z°2))
("_") graph vy

(N N def  f(x,y) = 2/((x+0.5)"2+y"2+1)+1/((X-1)"2+(y-1)"2+1)
(™ ™ graph f

™ 1) def  f(x,y) = 0.1*%(y"3-3*x"2*y)
(» ") graph f

(™ M) def  y(z,x) = cos(x+z)*cos(x-z)
(*_") graph vy




y=f(x)

(™) def f(x)=x*(x-2)
("_") graph f

(»_7N) graph color black
(~_"™) graph integral(f)
(™) def g(x)=differ(f(x))
(~_") graph color green
("_") graph g

def g(x) = differ(f(x))
f(x) 9(x)

graph g
f g

def h(x) = integral(0, x, f)
f

graph integral(f)

[ f (@)t

dy/dx = f(x,y)

(M k=0.2
0.2
i
1.0
(™) def f(t,v)=g-k*v/2/m
(™~_7) graph field(f)

dy/dx = f(x,y)

graph field(f)
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1[Kg] 9.8[m/s/s]

(™" k=0.1
0.1
(") m=1,
1.0
(™ _7) def f(t,v)=g-k*v2/m
(~_7) graph diffsolve(0,0,f)

dy/dx = f(x,y)
graph diffsolve(x0,y0,f)
(x0,y0)

d? d
SV, y)d—iw(x, y)=0

dx?
F %91 Yor Yo
P(x,y) Q(x.y)
diffsolve2(x0,y0,y’0,P,Q)
y vy
K m

h dx ﬁ_

d?2x

_+ =
dt? mdt m

X:

t:

h:

g:

("M h=0.2
0.2

(/\_/\) m=1
1.0

{ kb
5.0

(™) def p(t,x)=h/m

(™) def g(t,x)=k*x/m-g

(™_") graph diffsolve2(0,0,0,p,q)
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y =1(x)

x = g(t) (™~ def r(t)=2-0.5*cos(5*t) J\ \/7
y = h(t) (™) def x(t)=r(t)*cos(t)

(™) def y(t)=r(t)*sin(t)

X(t) y(t) (™M) graph x:y[0,2*PI]

graph x:y|[a,b]

X: X(t) y: y(t) at b: t
: T pEzEnNhEE
X =r cos(t) (™ ") graph x:y[0,8*PI] ' /;\ ' [
y =r sin(t) Q - !
0 t 27T ! 7
(A_/\) r=2 AR 228 AL AR ™ 20

(") graph x:y[0,2*PI] (™ ") graph x:y[0,2*PI]

2.0
(™ _7) def x(t)=r*cos(t) (™ _7) def x(t)=sin(2*t)
(™) def y(t)=r*sin(t) (") def y(t)=sin(3*t)
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x = f(t)
y=9()
z=h(t)

(") def x(t)=2*cos(t)
(A7) def y(1)=0.3*t

(A7) def z(t)=2*sin(t)

(~_") graph x:y:z[-6*P1,6*PI]

(™ _Mdef r(t)=2-]10.1*t]
(™_Mdef r(t)=2.5-]0.1*t]
(™_™Ndef x(t)=r(t)*cos(t)

(™ _Ndef y(t)=0.2*t

(™ _Ndef z(t)=r(t)*sin(t)
(~_Mgraph x:y:z[-8*P1,8*Pl]

+im PP MLL Oa!

ﬂWN ( :\". iﬂﬂbjﬁ w

(~_"Ndef x(t)=0.1*t*cos(t)
("_Mdef y(t)=0.5*sin(3*t)
("_M)def 2(t)=0.1*t*sin(t)
("_Mgraph x:y:z[0,10*PI]

(~_7) def x(t)=sin(t)
("_") def y(t)=sin(2*t)

(™ ) def z(t)=sin(3*t)
(™_") graph x:y:z[0,2*P1]

(") def x(t)=sign(sin(t))
(") def y(t)=0.2*t

(~_7) def z(t)=sin(t)

(~_") graph x:y:z[-6*P1,6*PI]
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uv

x =f(u, v)
y=9(u, V)
z=h(u, v)
A
Y
r \ >
t X
P(X,y,Z)
Z
P(x,y,12) r t
x(r,t) =rsin(t)
y(r,t)=0
z(r,t) = r cos(t) e

() def x(r,t)=r*sin(t)

(™) def y(r,t)=-1

(™) def z(r,t)=r*cos(t)

(~ ") graph x:y:z[0,2][0,2*Pl]

=
dEE PFD AL

am e

-

X = cos(g) -sin(d)

y =rsin(¢)
Z =r cos(¢) - cos(6)

(™) def x(s,t)=cos(t)*sin(s)

(™) def y(s,t)=sin(t)

(™) def z(s,t)=cos(t)*cos(s)

(™ M) graph x:y:z[0, 2*PI][-P1/2, P1/2]

(™ ") graph x:y:z[0, 2*PI1][-P1/2, O]

(™_N) graph x:y:z[0, PI][-P1/2, P1/2]

15




rsin(t)

h
Z =r cos(t)

X =

y:
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